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Log10 Signal
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Difference in Log10 signal (ZT20 — ZT08)

Bait: GYS2 Tiss: Liver Geno: KO

500
1500
0.4+ i
0.0 Aoy WH»MWMMWW—
-0.4- :
2500
0.4+ i
0.0 ~ TSy > *‘*‘MMWM&N—
-0.4- :
5000
0.4+ E
0.0 e W ‘.f‘-m Povdinafo aplosio - -
-0.4- :
10000
0.4+ ;
0.0 S e
-0.4-
~10000 ~5000 0 5000

Rel. Position [kb]



Zscore

Bait: GYS2 Tiss: Liver Geno: KO

500
10+ :
5- E
O-MWMWWW—
-5- !
_10-
1500
10+ 1
5- :
0 A A SN g —
_5-
_10-
2500
10- 1
5- :
0 byttt ANV A ot —
_5-
_10-
5000
10 - 1
5- i
0 g M Attt A AN A Sy i
_5- 1
_10-
10000
10- 1
5- i
0 e Aot A PN b el s
-5- 1
=10+ . . ! .
-10000 -5000 0 5000

Rel. Position [kb]



Bait: GYS2 Tiss: Liver Geno: KO

500

20 -
10-

_10 -
_20 -

1500

20 -
10-

- Aodalen o (] IS TP I I WSO

N

_10 -
_20 -

2500

N = =N
[oNeoleNeNe]
(| [

—-log10(Pvalue)

5000

20 -
10~

A a0 PO YT PPy vopuy

At adubod

_10 -
_20 -

10000

20 -
10~

_10 -
_20 -

10000

~5000 0
Rel. Position [kb]

5000




—-log10(Pvalue)

500

Bait: GYS2 Tiss: Liver Geno: KO

1500

2500

5000

@ 8:

—dA- dO OM
Delta (ZT20-ZT08)




Bait: GYS2 Tiss: Kidney Geno: WT

500

15
1.0+
0.5+
0.0-

1500

15
1.0
0.5+

"

|

1 T T R Wy

0.0

2500

© 1.5

S 0.5-

-

(@)
© 0.0

5000

15
1.0
0.5+

0.0

10000

15
1.0+
0.5+

0.0

—10000

5000

Rel. Position [kb]

time — ZT08 — ZT20

5000




Difference in Log10 signal (ZT20 — ZT08)
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